Horm in F

Louis Spohr op. 147
Allegro vivace.
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Molto allegro.

Id

2
=

1
11

6

]

-
S~

Clarinetfoin A.
o

74

A
o

FINALE.

p—=y |

u|

T

P
—

3

A

£

L O )

L W ]

1 1
e 1M =
VT IR
% o1

1-['_?
-

-

!
p—

~ 9
o

-___H__‘_. .

B
A~
XY

5D
F

r

mE

LN )

CITCS C.

’\/‘_—‘>
e
Fop

M M
J 3
o . dur
Ir.‘ f
nv \ v .
o/
quu N

—

A4

I2W2)

24
1
|
P

1

o) cresc.

=
|
NN AN Apy) ) Come

T
Flauto.
L T 1

1

15

TSN

ANV
[Y)

G
N\

L @ )

|
o

p= =

289

1
P

AN
/]

6

LN ]

L Q)

LN )

A A
70

LN )

cresc.

AT

o

LN ]

1
1

/]
- g

FINE.

P4

/1)

i p v
1H S
il T
T AV/‘M .

ol
1)
um fﬁ 1r>

: il
%R

el TR TR

L)

LN ]

L Q)




